MISCLANEOUS -1
AP & GP work sheet

Find x, y and z given that the numbers x, 10, y, 24, z are in A.P

x, 10, y, 24, z eeiuemey @b LGS OoTLjauflngulesd o eienen eeled, X, Y, z
B WIIBSIET HIL BT,

a.6,12,27 b. 4,16, 30 c.3,17,31 d. 5,18, 31

In a theatre, there are 20 seats in the front row and 30 rows were allotted. Each
successive row contains two additional seats than its front row. How many
seats are there in the last row?

R deolior  oUmESar  (PpHe  alflwgulled 20 BHEMBBEHLD  GoTHHWD 30
AflenFHEHID ©_6iT6NT6M. SBHSBHS @a0auTH  auflwFulsid IBBG (WPHmSHW
aflengmwal.  QJeNih  E(HEHMBHET  FmBHEOTH O 666 smLd  euflenFuied
IHHMO B(HHMBH6IT E(HHGLD?

a.74 b. 78 c. 80 d.76

If nine times nineth term is equal to the fifteen times fifteenth term, six times of

twenty fourth term is.

Qb Sl (bdH OFTLJauflengule  qealUSHToUSH 2 MINST  @QeTUFH L MIGLD,
UGBS TeUH 2 mIinler UHedenbdHl WLHIGD FOW 6efled EHUSHH  [HTETHTeUDI
o mInfedT &Ml DL HIG).

a.24 b. 15 c.9 d.0

Find the sum of the following 6 + 13 +20 + ... + 97
LereumeuaieuBpliesr anbHe0 amewis. 6 +13 +20 + ... +97
a. 103 b. 498 c. 641 d.721

How many consecutive odd integers beginning with 5 will sum to 480?
5-00(pbd  OHTLRIS  61HHmed OHTLTFF LT QMMM  (PIPSHHENENTSH  Fnl IQGUTED
BP0 480 FHewLdH@GD?

a.21 b. 19 c.22 d. 20

Ifa, b, c, I, mare in A.P, then the value of a -4b + 6¢c - 4] + m is
a,b,c, |, m aaiuer gl Bdh OFHTTauflenguled minier a-4b + 6¢c-4+m =
a.1 b.2 c.3 d.0
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Find the middle term (s) of an A.P 9, 15, 21, 27, .... 183.
Heteumd anl (s GHTLMed 2 eiten BB _miilmensd srewis. 9,15, 21, 27, .... 183
a. 93,99 b. 87,93 c. 99,105 d. 81, 87

Find the rational form of the number 0123.
0123 eTeti3  eTewTenien eNBH(PHBI CUIQEUD SHTENISH.
41 123 41 123
a. — b. = c. — d. =
330 329 333 301

Find the number of terms in the following G.P.
eitaupd  QUHSBGHSH OFHTLTeuflenguled o eifem o miiHellenr  eTewtenllbmBpemuid
BHIT60TDH. liii

39 27 2187

a.6 b.8 c.”7 d.5

Find the sum of first six terms of the G.P. 5, 15, 45, ...
5,15, 45, ... e@iB OQUBHEBSHH OFHTLT euflenguler WPHeL 6-2 MILILEHeM6T  FnBHHe0
SITE0Ib.

a. 3,640 b. 2,620 c. 1,930 d. 1,820

Find the sum of the following series
Ueteurpd OaTLfsefler ambHeneod smenis. D1 +52 +53 +...+ 92
a.2973 b. 248 c.1,763 d. 3,003

Find the sum of the following series
Leteumd OFHTLTHeMelr FmbBHemevd Srewid. 1 +4 +9 +16 +...+ 225
a. 2,000 b. 3,256 c. 1,240 d. 3,636

Find the sum of the following series
Heteumd QT jseller ambpenevd &rewis. 1 +3 +5 +...+ 71
a. 1,225 b. 1,296 c.1,156 d. 1,444

Ina G.P 729, 243,81 .... find t;
Heteumd QUmBEG OFHTLT euflewaule 7ougs o miienu srewis. 729, 243, 81...

a1 b.3 .2 d.%

[f1+2+3+...+k=325then find 1*+2°+3% +...+ k®.
1+2+3+..+k=3256afld 1P+2°+3+...+k*-61 A SHT6wIch.
a. 105625 b. 34328125 c. 975 d. none of these

16. Find thesumof2+4+6+...+ 80
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FBHe0 dmewis. 2+4+6 +...+ 80

a. 1,420 b. 1,640 c. 1760 d. 1,800
How many terms are in the series -11, -15, -19

-11, -15, -19 -83 B5H0HTL M0 aThHHmen 2 MINILH6T 2 6iTermen?
a. 20 b. 21 c. 19 d. 18

Find the 10th term of a G.P. whose 8th term is 768 and the common ratio is 2.
Qb CUmEGHS O0HTLT euflwFulle 8-eukh o mii] 768 wB@ID CUTEH lSFHD 2
aTellen, SIFHei 10-6uFH 2 MILIeVLIS SHT6EwIS.

a. 4,028 b. 3,072 c. 6,124 d. 3,112

Find the number of terms in the A.P 3,6,9,12, .... 111 ?

3, 6, 9, 12, ... 111 eeB &l GOHTLT auflwsuled eaHHemer o MIIL|SH6IT
SDIMLOHSHI61T6TT601?

a. 36 b. 37 c.41 d. 39

The ratio of 6th and 8th term of an AP is 7 : 9. Find the ratio of 9th term to 13th
term.
b &GS OsTLJeauflensulsr 6-eugkl LOBBID 8-aukh o milyseler alHHbd 7 :
aiadlle0, 96Uzl LOB@ID 13-6uFH o mIlIHeNen BB SHTewrsb.
a.8:13 b.11:14 c.8:12 d.5:7
Solution:
. b WA
Given: & = —
5 9
a+5bd 7
a+7d 9
9a+5d)="7(a+7d)
=a=2d
t a+8d 2d +8d

Now, =& = = =3
t, a+l2d 2d+12d 7

t,:t,=5:7

2
In an A.P. the sum of first n terms is 5%+ %n . Find the 17th term.

2
Qb LGS CFHTLJauflewsulsd (pHed 1 2 mIlIEeiear Fn{bHHeo 5%+3?n etedlleL, 17-

Sl 2 MILEDLIS SHT6wISb.
a. 84 b. 78 c. 96 d. 80
Solution:
S, = s, 3n _ l(5n2+3n)
2 2 2
Replacing n by (n - 1), we get

3| Page APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187



%(5(n—1)2 +3(n-1)) = %(5n2 ~7n+2)

S, —S
1(5n2+3n—5n2+7n—2)
2
%(10n—2) =5n-1 — (i)
Putn =17 in (i) we get,

T, =5(17)-1=84

Find the sum of all natural numbers between 300 and 600 which are divisible
by 7.

300- &G 600 -G QLB 7 0 UGUBLD DIMETHFH BQUIeD  6TeuTH61 60
Fn(HFH6L BHTENIS.

a. 18,264 b. 17,264 c. 19,264 d. 20,264
Solution:

From 301 to 599

301 =7x43 +0

599 = 7x85 + 4
85 - 42 =43 terms

. The series 301, ..., 595
s, = g(a+|)

= %3301+ 505)
2

=19, 264

An A.P consists of 31 terms. If its 16th term is m, then the sum of all the terms of
this A.P. is

Qb &S T jauflengulsd 31 2 mIseT 2 effenel. SISl 16-6ukh o mii] m
aefley, SbhHDH Fnl (B GHTLJauflenguled 2 _6iTem 6T6060T 2 MILIL|H6TT TnHH60.

a. 16m b. 62m c.31m d. %m

Solution:

b =M

s, = %1(2a+3o)

%(2(a+15))

= 31(t,)
=31m
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a—b+3a—2b 5a-3b

a+b a+b a+b

a-b 3a-2b 5a-3b
+ +

a+b a+b a+b

Find the sum {

+...10 12 terms}.

FnBIH6V SHTCIIb. [ +12 &@Uu&;@ﬁ} 6U6D

a. i(4a—13b) b. i(24a—13b)
a+b a+b

C. £(2a—13b) d. L(4a—13b)
a+b a+b
Solution:
a-b _ 3a-2b ) a-b _ 2a-b
a+b’ a+b a+b  a+b

g[2a+(n—1)d]

g 5 a-b 11 2a-b
2 a+b a+b
6

——[24a-13b]
a+b

Find thesum 3 +1 + %+ ...00

3+1+ %+ ...0 eIl QFHTLHGT FmBHO HTCUwIHb.

a. 3 b. u C. o d. 2l
2 3 2 2

Solution:

3+1+%+...+oo 3(1+%+3—12+...+ooj here,a=1andr=

(- -
-3+

The houses of a street are numbered from 1 to 49. Senthil’s house is numbered
such that the sum of numbers of the houses prior to Senthil’s house is equal to
the sum of numbers of the houses following Senthil’s house. Find Senthil’s
house number?

Qb Oxmalaeien aiGsEnEHE& 1 WPHeL 49 auedy OHTLFFFHWTSDS BHHAN6VSHBID
QUPMISLILIL (HeTTer ). CapdHeder ol lgB@  WeleniHTd 2 6o aihHerlen
5H60HBMIFBT6 gl (hdh OHTenswTaighl CFhHedar il B&L LaiaidTed o 6lTern
aipsalar SHalevdamiseler gl L HOHTHHGHF WD 6afed OFhHedear ail (Hh
HHANNVHHHNHD HTEWISD.

a. 35 b. 45 c.49 d. 25.

Solution:
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Sum of the numbers of
houses preceding x = Sum of the number of houses following x
SoSy T 5,5,
n(n+1)

Sum of first n natural numbers S = >

(X=D(x-1+1) _ 49(50)  x(x+1)
2 2 2

1 _ 1
E[x(x—l)] = 5[2450—X(X+1)]

x(x-1) = 2450 - x(x+1)
x? - x=2450 - x2 - x
x2=1225
x =-35o0r35
Since, number of houses cannot be negative.
. x=3b

A.P & G.P work sheet - I Answer Key

1123 4|5 67|89 10
C D D D D/ A C C|D
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